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QUESTION 1

You have just finished installing and configuring an ONTAP cluster for a customer.

In this scenario, which product collects information and produces site documentation?
A. NetAppDocs

B. Inventory Collect Tool

C. SnapGathers

D. Active IQ OneCollect

Correct Answer: A

Reference: http://197.253.9.244/ontap%209-5/Cluster%20Admin/2_Student%20Guide/STRSW-
ILTONTAPADM_StudentGuide.pdf

QUESTION 2

You are installing a new AFF A400 cluster for a customer. The customer indicates that they want to take advantage of
AutoSupport On Demand.

In this scenario, which AutoSupport transport protocol must you use?
A HTTP

B. SMTP

C.FTP

D. HTTPS

Correct Answer: D

Reference: https://www.netapp.com/media/10438-tr-4444.pdf (9)

QUESTION 3

You are installing a new FAS2750 cluster with 24 HDDs for a customer to run a NAS workload. The customer requests
that the HA pair have only a single aggregate that is located on Node 1. Maximum capacity is required.

Which action must be performed to ensure that the customer\\'s requests are satisfied?
A. Perform a takeover of Node 2 to ensure that it does not run.
B. Assign all data LIFs to Node 1.

C. Assign all the partitioned disks from Node 2 to Node 1, and create a single aggregate.
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D. Assign all the data partitions from Node 2 to Node 1, and create a single aggregate.

Correct Answer: B

QUESTION 4

In an ONTAP switched cluster, which three types of traffic travels over the cluster network? (Choose three.)
A. intercluster SnapMirror

B. intracluster SnapMirror

C. Epsilon voting

D. cluster database replication

E. remote cluster peering

Correct Answer: ADE

QUESTION 5

You use the system health subsystem show command to troubleshoot your newly installed ONTAP cluster.
In this scenario, which two health outputs would this command show you? (Choose two.)

A. data switch cabling

B. cluster switch cabling

C. shelf connectivity

D. node CPU utilization

Correct Answer: CD

Reference: https://www.doc-developpement-durable.org/file/Projets-informatiques/cours-and-
manuelsinformatiques/Netapp/Data%200NTAP%208.0%207-Mode%20System%20Administration%20Guide.pdf
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